
<latexit sha1_base64="j4pzuSHcf7Obsb9a6XL7FbLkwsY="></latexit>

X-Néel, ⌘ihSixi 6= 0

<latexit sha1_base64="gD0GR6QwLjilKj+ExLgWVp6n3Tw="></latexit>

Z-Néel, ⌘ihSizi 6= 0

<latexit sha1_base64="t+BHU4mMxRizW+vibtuaYsha8Mo=">AAACEXicbVDLSgNBEJz1GeNr1aOXwUTIQcJuAkZvIV48RjQPyIYwO+lNhszOrjOzQgj5BS/+ihcPinj15s2/cfJANFrQUFR1093lx5wp7Tif1tLyyuraemojvbm1vbNr7+3XVZRICjUa8Ug2faKAMwE1zTSHZiyBhD6Hhj+4mPiNO5CKReJGD2Noh6QnWMAo0Ubq2LnrJAYZ8IR1T3DW40T0OOBKh2FPzrgn4BY72Y6dcfLOFNjJF8+dUqmEvxV3TjJojmrH/vC6EU1CEJpyolTLdWLdHhGpGeUwTnuJgpjQAelBy1BBQlDt0fSjMT42ShcHkTQlNJ6qPydGJFRqGPqmMyS6rxa9ifif10p0cNYeMREnGgSdLQoSjnWEJ/HgLpNANR8aQqhk5lZM+0QSqk2IaROCu/jyX1Iv5N3TfPGqkClX5nGk0CE6QjnkohIqo0tURTVE0T16RM/oxXqwnqxX623WumTNZw7QL1jvX2HlnBc=</latexit>

Superfluid, hBii 6= 0

<latexit sha1_base64="mTGql3QzsVnsQxj/oOv86keGA6o="></latexit>

Site density wave,
⌘ihB†

iBi � 1
2 i 6= 0

<latexit sha1_base64="JrIQaZxMHgJCR0zyhQHFE91ov5Q=">AAACFnicbVDLSgMxFM34rOOr6tJNsAhuLDMtOLordeOygn1AW0omc9uGZjJDkqmUoV/hxl9x40IRt+LOvzF9KFo9EDiccw839/gxZ0o7zoe1tLyyurae2bA3t7Z3drN7+zUVJZJClUY8kg2fKOBMQFUzzaERSyChz6HuDy4nfn0IUrFI3OhRDO2Q9ATrMkq0kTrZ05YPPSZSCkKDHNvlSAQ4AKGYHuFbMgS7BSL4sjvZnJN3psBOvnjheJ6HvxV3TnJojkon+94KIpqEJk45UarpOrFup0RqRjmM7VaiICZ0QHrQNFSQEFQ7nZ41xsdGCXA3kuYJjafqz0RKQqVGoW8mQ6L7atGbiP95zUR3z9spE3GiQdDZom7CsY7wpCMcMAlU85EhhEpm/oppn0hCTQfKNiW4iyf/JbVC3j3LF68LuVJ5XkcGHaIjdIJc5KESukIVVEUU3aEH9ISerXvr0XqxXmejS9Y8c4B+wXr7BChhoAQ=</latexit>

Bond density wave
<latexit sha1_base64="ryCDYCz4dNYK08svtiwB+HNIKIo=">AAACF3icbVDLSgMxFM3UVx1fVZdugkVwNcy0YHVXdOOygm2FtpRM5rYNzSRDkhHK0L9w46+4caGIW935N6YPRasHAodz7uXmnDDhTBvf/3ByS8srq2v5dXdjc2t7p7C719AyVRTqVHKpbkKigTMBdcMMh5tEAYlDDs1weDHxm7egNJPi2owS6MSkL1iPUWKs1C147RD6TGQUhAE1dhuEg6CAQykirCVnkdsGEX353ULR9/wpsO+Vz/xKpYK/lWBOimiOWrfw3o4kTWO7TjnRuhX4ielkRBlGOYzddqohIXRI+tCyVJAYdCeb5hrjI6tEuCeVfcLgqfpzIyOx1qM4tJMxMQO96E3E/7xWanqnnYyJJDU27exQL+XYSDwpCUdMATV8ZAmhitm/YjogilDbgXZtCcFi5L+kUfKCE698VSpWz+d15NEBOkTHKEAVVEWXqIbqiKI79ICe0LNz7zw6L87rbDTnzHf20S84b5/H96BU</latexit>

Valence bond solid

<latexit sha1_base64="Axd5rFdx5CzHzBfQUGL9hXozjRU="></latexit>
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<latexit sha1_base64="eGSPNz+aKlccPRKGJGF03y90B9w="></latexit>
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